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% atsim_parameterloader.m%

DT=0.00005; %simuration sampling time
CT=0.0001; %controller sampling time
ST=0.00001;

UVW2AB = sqrt(2/3)*[1,-0.5,-0.5;0,sqrt(3)/2,-sqrt(3)/2];
AB2UVW =UVW2AB';

UVW2ABO = sqrt(2/3)*[1,-0.5,-0.5;0,sqrt(3)/2,-sqrt(3)/2;1/sqrt(2),1/sqrt(2),1/sqrt(2)];
ABO2UVW =UVW2ABO0";

GR =9.80;

v_type = "rickshaw'

param_vheiclespec

param_motorspec

param_storagespec

param_controllconstant

initialcondition

%function param_vheiclespec%
if all(v_type == 'rickshaw")

radius_tire = 0.235;
ratio_lst=15;

ratio_2nd =2.93;
ratio_3rd = 1.84;
ratio_4th =1.12;
ratio_Sth=1;

ratio_fd =4.125;
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ratio x =[0,1,2,3,4,5];

ratio_gr = [O,ratio_1st,ratio_2nd,ratio_3rd,ratio_4th,ratio_5th];

ratioband_ratio= [0, ratio_5th*0.99, ratio_5th*1.01, ratio_4th*0.99, ratio_4th*1.01, ...
ratio_3rd*0.99, ratio_3rd*1.01, ratio_2nd*0.99, ratio_2nd*1.01, ...
ratio_1st*0.99, ratio_1st*1.01, 10];

ratioband GP=15.5,5,5,4,4,3,3,2,2,1,1,0.5];

M body =435;

M_driver = 130;

I_tire = 9.055%*9.8/100;

I_eng =0.2%9.8/100;

I_body_without engine = ( (M_body + M_driver) * radius_tire"2 + 3 *I_tire ) / ratio_fd " 2;

vehicleregist vsp = [0,40,80,120,160,200,240,255];

rollregist = 10;

airregist
0.1¥[0,46.9765891,187.9063564,422.7893019,751.6254256,1174.414727,1691.157208,1909.157941];

vehicleregist force = rollregist + airregist;

brakeforce deg =[0,20,40,60,80,90];

brakeforce force =1 body without engine/radius_tire"2 *ratio_fd ~ 2 *[0,0.2,0.4,0.6,0.8,0.9]1*9.80;

teng = [...
-5.000 -0.027 4.950 9.173 10.794 12.000
-5.000 0.930 6.718 11.483 13.246 14.500
-5.000 1.456 7.690 12.754 14.595 15.876
-5.000 1.644 8.037 13.207 15.076 16.366
-5.000 1.719 8.176 13.388 15.268 16.562
-5.000 1.756 8.245 13.478 15.364 16.660
-5.000 1.719 8.176 13.388 15.268 16.562
-5.000 1.644 8.037 13.207 15.076 16.366
-5.000 1.531 7.829 12.935 14.788 16.072
-5.000 1.419 7.621 12.664 14.499 15.778
-5.000 1.306 7.413 12.392 14.211 15.484
-5.000 1.081 6.998 11.849 13.634 14.896
-5.000 0.894 6.651 11.396 13.154 14.406 ];
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teng tvo=[0 10 20 40 60 80];

teng ne = [600 1000 1600 1800 2000 2200 2400 2600 2800 3000 3200 3400 3600]’;

%oparam_motorspec%
MGISPEC.Pol =1;
MGISPEC.Ld = 0.00037/1;
MGISPEC.Lq =0.00037/1;
MGISPEC.r =0.01;
MGI1SPEC.Phi = 0.07;

regeneration_ratio = 0.5;

ratio_mgl =21%2/3;

Yoparam_storagespec%
CPSPEC.C =0.50;
CPSPEC.SAFTYRATIO =1.1;
CPSPEC.R =0.1;

CPSPECI1.C = 1.00;
CPSPECIL.SAFTYRATIO =1.1;
CPSPEC1.R=0.1;

CPSPEC2.C = 1.00;
CPSPEC2.SAFTYRATIO =1.1;
CPSPEC2.R =0.1;

BTSPEC.V = 200;
BTSPEC.SAFTYRATIO = 1.1;
BTSPEC.R =1000;

Yoparam_controllconstant%

shiftmap.ND1U=[0 0
10 0
10 255
255 255];
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shiftmap.ND2D=[0

7 0
7 255
255 255];

shiftmap.ND2U=[0

20 0
20 255
255 255];

shiftmap.ND3D =[0

15 0
15 255
255 255];

shiftmap.ND3U =[0

30 0
30 255
255 255];

shiftmap.ND4D =[0

25 0
25 255
255 255];

shiftmap.ND4U =[0

200 0
200 255
255 255];

shiftmap.ND5D =[0

190 0
190 255
255 255];

PREPTIME2N=0.3;
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Y%initialcondition%
outputshaft rev0 = 10/radius_tire*ratio_fd/3600*1000;
outputshaft phase0 = 0;

trottle_position 0 = 0;

clankshaft rev0 = outputshaft revO*ratio_4th;
VCPO =400;

VCP1_0 =200,

VCP2_0 =200,

invl_id 0=0;

invl_iq 0=0;

79




ey Lt (R
8 1.5
r : 14
5{ 7 N
6 7
-4 -
e 5 2
,ﬂ
3 |
3{ 4
L4
RPM 1800 2000 2400 2800 3200 3600
B.1 /

80



// "z (w2 . y3y) 02 g1 ot . 5
3EFY L T L G e FRRIREEES R (SR ALY RO (LA L — e - e

5 (w.N)enbiog 0z ksl L Vw.._?_ Ll L

et [ S35 (h4 41 L) } X 0

JU S
AN
A\
!
= 1
!
1
!
S — pOUUOL

”“...m

i T =H
(SWIYIEaImy) auty
(yiuszn) fjpddng semog
A aa

Lddng ssmeg

=t000G5 |

: AE.ET:E_...{._ 048y

F 28

B P E R EEE G HM002) & — B H HE N

B.2

81



HO
& S
o5 ! IS
+R Jac: ;
o = ]
R i
¥ j W= S L
{ ' — i i .
_._“. IHa:: : mH_
......... il P
.......... 1
1

82

3

B.



ﬁ

B.4

83



CE2H= kg

L2 ]

43

T A e

1L AN

H e

Rl

B.S

84



Il
OF

e

i1

I

g

B.6

85



Pentium M 1.4GHz

B.7

86



B.1

martin0010.c -source code of Linux Sample Program

Version 1.0

Date January 18, 2009

#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <unistd.h>
#include <fentl.h>
#include <termios.h>
#include <signal.h>
#include <errno.h>
#include <sys/signal.h>
#include <sys/types.h>
#include <sys/time.h>
#include <sys/io.h>
#include "cp4141.h"
#include "fbiad.h"
#include "fbida.h"
#include "fbipent.h"
#include "fbimtn.h"

#include <linux/art_task.h> //ART-Linux
#define MAX RECEIVE _LENGTH 128

#define BAUDRATE B19200
#define MODEMDEVICE "/dev/ttyS0"
#define _POSIX_SOURCE 1
#define SAMPLING T 0.020

unsigned long TimerMax = (unsigned long)(60.0/SAMPLING_T);
struct termios oldtio,newtio;

int fd, RsInpurNum;

unsigned char Rs2320utputBuf[15];

unsigned char Rs232InputBuf[500];

ADSMPLREQ AdSmplConfig;
unsigned long ulSmpINum;
unsigned short AdData[1024][8];

MTNMOTION Motion[4];

unsigned long TimerCount = 0;
FILE *resfile;
double *tmpDataX;

void signal_handler_IO (int status);
int wait_flag=1;

int Rs2321Init()

fd = open(MODEMDEVICE, O_RDWR | O_NOCTTY);
if(fd <0)
{

perror(MODEMDEVICE);

return -1;

exit(-1);

}

/"

tegetattr(fd,&oldtio);

/"

bzero(&newtio, sizeof(newtio));

/*

CS8 :8nl (8 1)
CLOCAL

CREAD : (receiving characters)

*/

newtio.c_cflag = CS8 | CLOCAL | CREAD ;//| CRTSCTS ;

// ICRNL
/I newtio.c_iflag = IGNPAR | ICRNL | IGNBRK;
newtio.c_iflag = ICRNL;

// Raw
newtio.c_oflag = 0;

// Raw
newtio.c_lflag =0;
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}

newtio.c_cc[VTIME] =0;
/At
newtio.c_cc[VMIN] =1,

/"

teflush(fd, TCIFLUSH);
cfsetispeed(&newtio,B19200);
cfsetospeed(&newtio,B19200);
tesetattr(fd, TCSANOW, &newtio);

"
fentl(fd, F_SETFL, FNDELAY);
printf("BAUDRATE is %i¥n", cfgetospeed(&newtio));

return 0;

int Rs232End()

{

int nRet;

/"
tesetattr(fd, TCSANOW, &oldtio);

nRet = close(fd);

if(nRet == -1)

{
printf("RS232C CloseError¥n");
return -1;

}

return 0;

int AdInit(int nDevice )

{

}

int nRet;

nRet = AdOpen( nDevice );

if(nRet != AD_ERROR_SUCCESS)

{
printf{("Open Error¥n");
return -1;

}

I
AdGetSamplingConfig( 1, &AdSmplConfig );

AdSmplConfig.ulChCount = 8;
AdSmplConfig.SmplChReq[0].ulChNo = 1;
AdSmplConfig.SmplChReq[2].ulChNo = 3;

AdSmplConfig.SmplChReq[2].ulRange = AD_5V;
AdSmplConfig.SmplChReq[3].ulChNo = 4;
AdSmplConfig.SmplChReq[3].ulRange = AD 5V;
AdSmplConfig.SmplChReq[4].ulChNo = 5;
AdSmplConfig.SmplChReq[4].ulRange = AD_5V;
AdSmplConfig.SmplChReq[5].ulChNo = 6;
AdSmplConfig.SmplChReq[5].ulRange = AD 5V;
AdSmplConfig.SmplChReq[6].ulChNo = 7;
AdSmplConfig.SmplChReq[6].ulRange = AD_5V;
AdSmplConfig.SmplChReq[7].ulChNo = 8;
AdSmplConfig.SmplChReq[7].ulRange = AD 5V;
AdSmplConfig.ulSamplingMode = AD_IO_SAMPLING;
AdSmplConfig.ulSingleDiff = AD_INPUT_DIFF;
AdSmplConfig.ulSmpINum = 1024;
AdSmplConfig.ulSmplEventNum = 0;
AdSmplConfig.fSmplFreq = 10000;
AdSmplConfig.ulTrigPoint = AD_TRIG_START;
AdSmplConfig.ulTrigMode = AD_FREERUN;
AdSmplConfig.ITrigDelay = 0;

AdSmplConfig.ulTrigCh = 1;
AdSmplConfig.ulECIkEdge = AD_DOWN_EDGE;
AdSmplConfig.ulATrgPulse = AD_LOW_PULSE;
AdSmplConfig.ulTrigEdge = AD_DOWN_EDGE;
AdSmplConfig.ulTrigDI = 1;

AdSmplConfig.ulFastMode = AD_ NORMAL_MODE;

"
AdSetSamplingConfig( nDevice, &AdSmplConfig );

/"
AdStartSampling( nDevice, FLAG_ASYNC );
return 0;

int AdEnd(int nDevice)

{

int nRet;

nRet = AdClose( nDevice );
if(nRet != AD_ERROR_SUCCESS)

{
printf{("CloseError¥n");
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return -1;

}

return 0;

int CntlInit(int nDevice )
{

int nRet;

nRet=PcntOpen( nDevice, PCNT_FLAG_NORMAL);
if (nRet) {
printf("Error: ret=%Xh¥n", nRet);
return(-1);

}

nRet = PentSetMode( nDevice, 1, 3, 1,0, 0);

if(nRet != PCNT_ERROR_SUCCESS) {
printf("Failed to configure the count mode.¥n");
return(-1);

}

nRet = PcntEnable( nDevice, 1, 1);
if(nRet != PCNT_ERROR_SUCCESS) {
printf("Failed to enable the count¥n");

return(-1);
}
nRet = PentClear( nDevice, 1 );
return 0;

}

int CntEnd(int nDevice)
{

int nRet;

nRet = PentEnable( nDevice, 1, 0);

if(nRet != PCNT_ERROR_SUCCESS) {
printf("Failed to disable the count.¥n");
return(-1);

}

printf("-Count Stop!-¥n");

nRet = PentClose(nDevice);

if(nRet '=PCNT_ERROR_SUCCESS) {
printf("Failed to close the device. ¥n");
return(-1);

}

return 0;

}

int MtnInit(int nDevice ,long  counter[4])
{

int nRet;

nRet = MtnOpen(nDevice, MTR_FLAG_NORMAL);
if(nRet) nDevice = -1;

/* == MtnSetPulseOut == */
nRet = MtnSetPulseOut(nDevice, 0x0f, MTR_METHOD, 0x0f);
if(nRet) return(nRet);

/* Clear counter */
/* == MtnWriteCounter == */
nRet = MtnWriteCounter(nDevice, 0x0f, MTR_COUNTER, counter);

if(nRet) return(nRet);
return 0;
}
int MtnEnd(int nDevice)
{
int nRet;
nRet = MtnClose(nDevice);
if(nRet)
{
printf("CloseError¥n");
return -1;
}
return 0;
}

int Mtn PTP_motion(int nDevice, MTNMOTION ary info[4], int axis_x, int axis_y, int axis_z, int axis_u)
{

int i,nRet,step = 0;

unsigned short axis;

axis = 1;
for (i=0; i<4; it+){
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switch(i) {

case 0: step = axis_x; break;
case 1: step = axis_y; break;
case 2: step = axis_z; break;
case 3: step = axis_u; break;

default: break;

}
if (step 1= 0){
ary_info[i].IStep = step;
}
}

if (axis 1= 0){
nRet = MtnSetMotion(nDevice, axis, MTR_PTP, ary_info);

if(nRet){
printf("MtnSetMotionError errNO = %x¥n", nRet);
return -1;
}
nRet = MtnStartMotion(nDevice, axis, MTR_ACC, MTR_PTP | MTR_ABSOLUTE);
if(nRet) {
printf("MtnStartMotionError errNO = %x¥n", nRet);
return -2;
}
}
return 0;

}

int open_bord_0010(void)

{
struct sigaction saio;
long counter[4];

/* open RS232(CH1) port */
if(Rs232Init() == -1)
{
printf("RS232C Open Error¥n");
exit(1);
}
printf{("RS232 Port is opened! ¥n");
saio.sa_handler = signal_handler_IO;
sigemptyset(&saio.sa_mask);
saio.sa_flags = 0;
saio.sa_restorer = NULL;
sigaction(SIGIO, &saio, NULL);
fentl(fd, F_SETOWN, getpid());
fentl(fd, F_SETFL, FASYNC);

//AD Initialize
if{AdInit(1) == -1)

{
printf{(" AD Open Error¥n");
exit(1);

}

//IMTN Initialize

if (MtnInit(5 , counter) == -1)

{
printf("MTN Open Error¥n");
exit(1);

}

//CounterBord Initialize
if{ Cntlnit(6) == -1)

{
printf("CounterBord Open Error¥n");
exit(1);

}

return 0;

}

int close_bord_0010(void)

{
//RS232 Close
strepy(Rs2320utputBuf, "sv 0%r");
write(fd, Rs2320utputBuf; 5);
if (Rs232End() == -1)

{
printf{("RS232 Close Error¥n");
exit(1);

}

//AD Close

if (AdEnd(1) ==-1)

{
printf("MTN Close Error¥n");
exit(1);

}

/IMTN Close

if (MtnEnd(5) ==-1)

{

printf("MTN Close Error¥n");
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exit(1);
}

//CounterBord Close
if(CntEnd(6) == -1)
{
printf("CounterBord Close Error¥n");

exit(1);

}
return 0;

}

int reset_0010(void)

{
int i;

// Output to RS232C

strepy(Rs2320utputBuf, "sv 1¥rtr 0000%™);
write(fd, Rs2320utputBuf, 13);

for (i=0;i<4; it+){
Motion[i].wClock = 299;
Motion[i].wAccMode = MTR_ACC_NORMAL;
Motion[i].fLowSpeed = (float)10.0;
Motion[i].fSpeed = (float)10000.0;
Motion[i].ulAcc = SAMPLING_T*1000;
Motion[i].ulDec = SAMPLING_T*1000;
Motion[i].fSAccSpeed = (float)0.0;
Motion[i].fSDecSpeed = (float)0.0;
Motion[i].IStep = 0;

}
Mtn_PTP_motion(5, Motion, 0, 0, 0, 0);

return 0;

int main(void)

{

int ret;

unsigned int uint_tr_req = 0;

unsigned int uint_thr trg =0;

unsigned short nCounter;

double vsp = 0;

printf("Experiment Start! ¥n");

printf("Time is: %Id seconds¥n", (unsigned long)(TimerMax * SAMPLING_T));

/lopen bords

ret = open_bord_0010();
resfile=fopen("./result.data","w+");
usleep(10000);

//reset subparameters
ret =reset_0010();
usleep(10000);

//Enter Realtime Mode
if{art_enter(ART_PRIO_MAX, ART_TASK_PERIODIC, (unsigned int)(SAMPLING_T*1000000)) == -1)
{

perror("art_enter error¥n");
exit(1);

}
printf("ART MODE enters! ¥n");

if (art_wait() == -1) {
perror("art_wait");

exit(1);
}
for (TimerCount=0 ; TimerCount<TimerMax; TimerCount++ )
{
if (art_wait() == -1) {
perror("art_wait");
exit(1);
}

if(wait_flag == 0) {
ret = read(fd, Rs232InputBuf, 500);
if(ret <0 && errno = EAGAIN) {
printf("read error:errno=%d¥n", errno);
break;

}
if(ret > 0) {
Rs232InputBuf[ret] = ¥0';
}
wait_flag=1;

}

ulSmpINum = 8;
AdGetSamplingData( 1, &AdData[0][0], &ulSmpINum );
ret=AdStartSampling( 1, FLAG_ASYNC );
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ret = PentRead( 6, 1, &nCounter );
ret = PentClear( 6, 1);
vsp = (4*vsp + (double)nCounter)/5;
uint_tr_req = (unsigned int)¥
((7*uint_tr_req + ((AdData[0][0]-2560)>0)*(AdData[0][0]-2560))*1/1)/8;
uint_thr_trg = (unsigned int)¥
(7*uint_thr_trg + ((AdData[0][0]-2560)>0)*(AdData[0][0]-2560)*384/2048)/8;

if(uint_tr_req<=0){

sprintf(Rs2320utputBuf,"tr 0000¥r");
telse{

sprintf{lRs2320utputBuf;"tr %x¥r", 0x10000 - uint_tr_req);
}

write(fd, Rs2320utputBuf; 8);
Mtn_PTP_motion(5, Motion, uint_thr_trg, 0, 0, 0);

fprintf{resfile,"%f,%d,%f,%d,%d¥n", ¥
SAMPLING_T * TimerCount, AdData[0][0], vsp, uint_tr_req, uint_thr_trg);
printf{"tmpData is %f,%d,%f,%d,%d¥n", ¥
SAMPLING T * TimerCount, AdData[0][0], vsp, uint_tr_req, uint_thr_trg);
}

printf("terminate program.¥n");

//Realtime Mode End
if(art_exit() ==-1)

perror("art_exit error¥n");
exit(1);
}

ret =reset_0010();
ret = close_bord_0010();

felose(resfile);

exit(0);

void signal_handler IO (int status)

{
wait_flag = 0;
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